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QUESTION 1

A network administrator enters the BGP command neighbor 10.0.2.1. The BGP router does NOT have any route to the
10.0.2.0 network. What will happen?

A. The router will form a successful adjacency with its 10.0.2.1 neighbor. The BGP state will be listed as connect.
B. The router will not form a successful adjacency with its 10.0.2.1 neighbor.

C. It will send gratuitous ARP messages to attempt to discover a route to its 10.0.2.1 neighbor.

D. It will send an ICMP packet to attempt to reach its 10.0.2.1 neighbor.

Correct Answer: B

QUESTION 2

A network administrator is designing a Layer 2 topology and requires separate spanning-tree roots to avoid having a
given port blocked for all instances. Which spanning-tree protocols will meet this need?

A. STP and RSTP

B. RSTP-PV and MSTP
C. STP and RSTP-PV
D. RSTP and MSTP

Correct Answer: B

QUESTION 3
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Refer to the exhibit.
A default route exists on OS10-C that points all internet traffic towards 10.0.13.3 on OS10-B. A network administrator
needs to re-route internet traffic only sourced from Host-1 to 10.0.12.2 on OS10-A instead. What feature can the
administrator implement to accomplish this goal?
A. Static Default Routing
B. OSPF Cost Manipulation
C. Source-Based Routing

D. Policy-Based Routing

Correct Answer: D

QUESTION 4

Which LSA type provides information necessary to reach routers originating type 5 LSAW's in other areas?
A. ASBR-Summary (Type 4)

B. Summary (Type 3)

C. NSSA (Type 7)

D. Router (Type 1)
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Correct Answer: A

QUESTION 5

How does a DHCP Client make a request to a DHCP server following an offer?
A. Multicast

B. ACK

C. Broadcast

D. Unicast

Correct Answer: D
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